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‘ HgO — Hg +‘/202‘

‘ H202 > H20 +1/202\
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Crxidation
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H2§O4

2H +S+40 = zero
2(+1) + S +4(-2) = zero
S=+8-2
S=+6
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2Cr+70=-2
2Cr+7(-2)=-2
2Cr+-14=-2
2Cr=+14 -2
2Cr=+12
Cr=+6
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Fe + 3( NO3) =zero
Fe+3(-1)=0
Fe+-3=0
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Cu+4H20 + S04 =0
Cu+4(0)+(-2)=0
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Half reactions

aCl, is an ionic compound with a positive
calcium ion and negative chlorine ions

Ca + Cl, —» CaCl,
Thus Ca Is losing electrons (oxidation)
Ca — Ca?* + 2e

Cl is gaining electrons (reduction).
Cl, + 2e—— 2CI-.



HCO,"

Oxidation numbers of all O=-2 H=+1

§ the atoms in HCO3 ?
X(-2)+1+?7=-1

C=+4




Chlorine Gas and Hydrogen Gas
form Hwvdrochloric Acid

0 O +1 -1
Cl, + H2 e ZHCI

Ethane burns in Oxyogen gas to give
Carbon Dioxide and Water

-3 +1 0 +4 -2 +1 -2
CH, + O, == CO, + H,O

Iron metal reacts with oxygen to form
Ferrous oxide, also called rust.

O O +3 -2
Fe -+ 'I:I'2 m—-- Fe2C.‘J3
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